
 Assembly Instructions 

 The Uppingham Log Store 

 

1 
 

Before you commence the assembly process, we recommend that you read these instructions thoroughly beforehand to 

familiarise yourself with the assembly procedure and to also check that you have the correct components. If for any reason 

you need assistance, you can find our contact details on the final page of these instructions. 

We highly recommend that any assembly is carried out on an open flat, level surface if possible and with sufficient space.  

Tools required: No2 Pozidriv screwdriver (or electric driver), 10mm spanner or socket. 

 

Components 
 

30mm screws, 
12 x 40mm screws 

12 x 45mm screws, 
6 x 60mm screws 

10 x 70mm screws, 
6 x 100mm screws 

2 x Dome head 
screws 

2 x 60mm Coach 
screws 

1 x Shelf 

    

 

 

 

      

1 x Base 1 x Roof 1 x Left side panel 1 x Right side panel 1 x Top rail 2 x Eave panels 

 

 

 

 

 

 
      

2 x Framing strip   Rear panel slats 
3 x Rear cross 

supports 
1 x Flashing strip   

 

 

 

 

  

 



The Uppingham Log Store 

Rutland County Garden Furniture Ltd, Ashbourne House, 2 Dovecote Meadows, 
Aslackby, Sleaford, Lincs, NG34 0HZ. 

Company No: 11025348   VAT No: 282569762 
  

2 
 

Step 1  Step 2 

 

 

 

Begin by placing the base in position close to the 
intended final location with the chamfered supports ends 
facing front as shown. 

 Now lower an end panel onto the base, the higher end 
towards the rear... 

Step 3  Step 4 

 

 

 

…and fix into place with 3 x 100mm screws as shown.  Repeat with the other side panel. 

 

  



The Uppingham Log Store 

Rutland County Garden Furniture Ltd, Ashbourne House, 2 Dovecote Meadows, 
Aslackby, Sleaford, Lincs, NG34 0HZ. 

Company No: 11025348   VAT No: 282569762 
  

3 
 

Step 5  Step 6 

 

 

 

Now lower the (optional) shelf with the finishing strip 
facing the front into place, gently easing the side panels 
apart if necessary, until it is located on its supports as 
shown. 

 Working from behind the assembly locate the markings at 
the top of the side panels. 

Step 7  Step 8 

 

 

 

Using the marks on the side panel to position one of the 3 
rear cross supports and ensuring the rear slat markings on 
the cross support (Step 9) are facing to the front of the 
store, fix each end in place with 2 x 45mm screws. 

 Add the 2 lower rear cross supports in the same manner.   

 

  



The Uppingham Log Store 

Rutland County Garden Furniture Ltd, Ashbourne House, 2 Dovecote Meadows, 
Aslackby, Sleaford, Lincs, NG34 0HZ. 

Company No: 11025348   VAT No: 282569762 
  

4 
 

Step 9  Step 10 

 

 

 

Working from the front of the assembly, locate the 
markings on the cross supports… 

 ...and use them to vertically align a rear slat before fixing 
it into place with 2 x 30mm screws through the top, 
middle and bottom cross supports. Repeat for all of the 
rear slats. 

Step 11  Step 12 

  

 

 

Align the top rail as shown (brace facing the bottom of the 
store) and affix each end with a 70mm screw.  

 Secure the free end of the 2 braces to the side panel with 
a 60mm coach screw. 



The Uppingham Log Store 

Rutland County Garden Furniture Ltd, Ashbourne House, 2 Dovecote Meadows, 
Aslackby, Sleaford, Lincs, NG34 0HZ. 

Company No: 11025348   VAT No: 282569762 
  

5 
 

Step 13  Step 14 

 

 

 

Lower the roof onto the assembly making sure that the 
slates are correctly oriented for water to run off and the 
mounting battens are flush with the rear of the side 
panels. 
 

 Fix each side of the roof into place with 3 x 70mm screws. 

Step 15  Step 16 

  

 

 

Align the eave panel and fix into place with 3 x 60mm 
screws.  

 Align the framing strip so that its edge is flush with the 
side panel and its top edge touching the underside of the 
roof and fix into place with a pair of 40mm screws 
through the top, middle and bottom position pre-drilled 
holes. 

 

 

  



The Uppingham Log Store 

Rutland County Garden Furniture Ltd, Ashbourne House, 2 Dovecote Meadows, 
Aslackby, Sleaford, Lincs, NG34 0HZ. 

Company No: 11025348   VAT No: 282569762 
  

6 
 

Step 17  Step 18 

 

 

 

Add the flashing strip to the top edge of the roof and fix 
into place with the 2 x dome head screws. 
 

 Your Uppingham log store is now complete. 

We hope that you found your product quick and easy to assemble but if not and you require any further assistance or have 

any questions you can contact us by telephone on: 01778 440803 

Email: info@rutlandcountygardenfurniture.co.uk www.rutlandcountygardenfurniture.co.uk 


